OPEN FIRST!!

Parts list for
Master set # 4-1810

Parts list:

list before you start.

Transmission mount:
2 - 1001 mount (top)
2 - 1002 mount (bottom)

4 - 15.316 (2-1/2"0.D. washer)

Front radius/strut arm bushing set:
4 - 7049 bushing
1 - 17230 installation instructions

Front 2 degree “C”-bushing set:
4 - 7014 bushing
1 - 17231 installation instructions

Front tfrack arm bushing set:

-1966-75 vehicles use the following:

(round eye each end)

[2 - 2501 bushing

1 - 15.018 (1"O.D. x 3/4”1.D. x 1.750" sleeve)
[2 2502 bushing

1

1 - 17039 installation insrfuctions

-1976-77 vehicles use the following:

(oval eye one end)

F - 2501 bushing

1 - 15.018 (1"O.D. x 3/4”1.D. x 1.750" sleeve)
[2 - 7038 bushing

1

use 17039 installation insrfuctions

Rear leaf spring and shackle bushing set:
[8 - 2048 leaf spring bushings

[4 - 2056 rear frame shackle bushing
2

17040 installation instructions

Energy Suspension recommends that you read
over all the installation instructions and parts

2 - 15.101 (3/4"0.D. x 9/16".D. x 1.875" sleeve)

15.005 (3/4"0.D. x 9/16".D. x 1.750" sleeve)

- 15.080 (7/8"0.D. x 5/8"1.D. x 1.800" sleeve)

4 - 15.035(7/8"0.D. x 5/8"1.D. x 2.750" sleeve)
15.006 (3/4"0.D. x 9/16"1.D. x 2.750" sleeve)

l!lll!ﬂh'lv
WESNFA VY W

SUSPENSI@NGQ

1131 VIACALLEJON, SAN CLEMENTE, CA 92673

© 2002 Energy Suspension. All rights reserved.

May not be reproduced, in any form, or by any means,
without the written consent of Energy Suspension.

Parts list continuea:

Body mount set:

8 - 4025 bushing (top)

- 4026 bushing (bottom)

15.059 (7/8"0O.D. x 3/4"1.D. x 1.5" sleeve )
15.702 (7/16"-14 nut)

15.307 (2-1/2"0.D. x 7/16"1.D. washer)
15.309 (2"O.D. x 7/16"1.D. washer)
15.304 (1-1/8"0.D. x 7/16"1.D. washer)
15.508 (7/16"-14 x 3" bolt)

15.509 (7/16"-14 x 4" bolt)

17030 installation instructions

— N~ N 000000000000

Tie-rod boot sets:
4 - 13001 tie-rod boots

Grease:
2 - 9.11101 grease tubs

Additional parts available for

Shock boots

Fits most aftermarket shocks (2 per set)
set # 9-

Swaybar and endlink bushings

Please refer o our newest catalog for more
information. Please ask to see our catalog at
your place of purchase.

Please refer fo our newest catalog

for more information on custom
applications including bump stops, shock
bushings, universal mounts, tie rod boots, ball
joint boots, fransmission mounts, etc. please
ask to see our catalog at your place of
purchase.

17]

122302NJT

Q7




